Tutorial 2

http://cciis.ad.cityu.edu.hk/intranet/index_wd.asp

SSH Secure Shell 3.2.9 - Shell Client

host: moscow.cityu.edu.hk

A 

1) delete: need to click "delete"

2) moscow% pwd

 /home/moscow/stud7/ls/50389885

3) moscow% ls

Check what are there in my ftp

4) moscow% ls -F

all my files (have/ is my file)

5) moscow% ls - l

   details list

6) moscow% cat "document name".txt

Show what you have typed in your own file

7) moscow% more

Help us to separate the passage into pages.

8) moscow% q

Quit

9) moscow% mkdir compling

10) moscow% cd compling

= the function of enter….enter to the file of compling

11) moscow% cd.. 

(one . = up to 1 level)

B.

1)new file transfer window

2)upload

Tutorial 3

A. File Transfer

B. Copy file

1) /home/moscow/stud7/ls/50389885
2) find the folder “tmp”

3) copy the file into mine

4) countletters ( properties ( executes

5) copy file….input and output ( moscow% coutletters < e01.txt > 
6) for English ( moscow% countletters < e02.txt | sort | uniq –c | sort -nc

Tutorial 4

A. Transform File   ( ‘1’ change to ‘\n’
  ( ‘\n’ = spacing

  ( tr = translate, write the word..change to one word per line
· This‘\n’ is‘\n’ an‘\n’apple 

· All the punctuation marks haven’t been changed 

· So we need to change all the punctuation marks into spacing.

· The whole paragraph doesn’t include punctuation marks 

· Uniq = minor all into one
· -c = show frequency
2) moscow% tr ‘ ’ ‘\n’ < e01.txt

3) moscow% tr ‘ ’ ‘\n’ < e01.txt  | sort | uniq –c > 

4) moscow% tr ‘ ’ ‘\n’ < e01.txt  | sort | uniq –c > e01.out

5) moscow% tr ‘ ’ ‘\n’ < e01.txt  | sort | uniq –c | sort –r | > e01.dat
6) Moscow% tr –cs “[:alpha:]” “[\n*]” < e01.txt | tr ‘[A-Z]’ ‘[a-z]’ | sort | uniq –c
B. SPSS 12.0
1) open the e01.dat file
2) Step 4 ( no comma ( until finish

3) V1 ( analysis ( descriptive statistic ( Frequencies 

4) V1 ( output

5) Graphs ( line ( simple ( define ( cum % case
Tutorial 5
A. moscow

1) moscow% tr ‘ ’ ‘\n’ < e01.txt  | tr ‘[A-Z]’ ‘[a-z]’ | sort | uniq –c | sort –nr | > e01sort.dat
2) wc e01.txt ( show the number
B. SPSS 12.0

1) open the e01.dat file
2) Step 4 ( no comma ( until finish

3) data ( sort case ( V1 (一係係依到做…一係之前打 sort –nr)
4) highlight a column (blank) ( transform ( compute variable ( 

V01/50374*100 ( choose coverage) ( ok

5) highlight column COVERAGE ( transform ( create time series ( function (cumulate sum) ( coverage ( ok

Tutorial 8
1) copy file : cp /tmp/bigram .

2) bigram 2 < b.txt | tr ‘[A-Z]’ ‘[a-z]’ | sort | uniq –c | sort –nr | more (grammatical pattern)
3) bigram 2 < c.txt> c.2gram 
4) bigram 2 ( 2 wordings output)

5) grep “.*_JJ .*_NN” c.2gram | sort | uniq –c | sort –nr | more 
6) ngram ( call the program

7) 2 ( find 2 words

8) .*_JJ ( all the words with_JJ

9) Uniq ( minus the duplicate

10)  -c ( count how many words are there

11)  -nr ( reverse order 
Tutorial 9

How to find the content words

1) copy file: cp /tmp/text1.txt .

    cp /tmp/text2.txt .

    cp /tmp/ngram .

2) moscow%  tr ‘ ‘ ‘\n’ < e01.txt | tr ‘[A-Z]’ ‘[a-z]’ | sort | uniq –c | sort –nr > functionwd.txt

3) make use of the fuctionwd.txt to find the content word! It means that if the words not existed in the file of functionwd.txt …..they are content word

4) Moscow% man grep 

5) 搵content word 既 command (
Moscow% tr ‘ ‘ ‘\n’ < e02.txt | tr ‘[A-Z]’ ‘[a-z]’ | grep –vf functionwd.txt | sort | uniq –c | sort –nr > out.txt
6) –vf ((攞一dmap唔到既pattern) 

How to produce a script

1) Ngram $1 < $2 | sort | uniq - | sort –nr > $3 ( save this command into notepad file as ngram.script.txt
2) Chmod +x ngram.script.txt (chmod( change mode)

3) Ngram.script.txt 2 text1.txt output.txt

Tutorial 10

1) Moscow% tr ‘ ‘ ‘\n’ < e01.txt | tr ‘[A-Z]’ ‘[a-z]’ | Grep –vxf stopword.txt | sort | uniq –c | sort –nr 

2) Moscow% tr ‘ ‘ ‘\n’ < e01.txt | tr ‘[A-Z]’ ‘[a-z]’ | tr –cs ‘[:alpha:]’ [\n*] | sort | uniq –c | sort –nr

3) Moscow% tr –cs ‘[:alpha:]’ ‘[\n*]’ < e01.txt | tr ‘‘[A-Z]’ ‘[a-z]’ | Grep –vxf stopword.txt | sort | uniq –c | sort –nr 

1) No. of token: no of words of the passage -( use word count

No. of type: no of the type of the words of the passage ( use word Frequencies list
Repeat rate:  no. of token/ no of type

Higher the ratio of the passage, the easier / simpler it is 

2) Type token ratio: no. of type / no of token * 100 (100 for counting the %)

50 : 50/100 *100

20: 20/100*100

Higher the %, the more difficult of the passage is

3) Coverage ratio: counting individual but not the whole passage



  Frequency of the word/ Total no. of word of the passage *100%


假設the出現20%, news出現15%, address出現5%, 將會教80%....指total add up要有幾多個word…

Tutorial 11

Close = functional words (auxiliary, conjunction, preposition, determiner, pronoun, numeral) ( 
Open = content words (include noun, verb, adverb, adjective)  ( 






